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That the children should be able, etc. — 9% NN TR

OVERVIEW

7717 °27 1s of the opinion that to become a 7¥11 the ox must have been warned for
his goring on three days, and that the 7y reverts back to become a an, if he did
not gore for three days (when he had the opportunity to gore). "7 maintains that an
ox becomes a 7v1 if he is warned three times (even in one day) and he reverts back
to becoming a an if he allows small children to play with him. Our n1901n discusses
the view of n".

mMooIn anticipates a difficulty:
- x5t 'Y 1IN DINT 23 Yy 9N

Even though that a person has ®1, how can we derive that he is no longer a 7 for an
animal —

mooIn responds:
=IMNTPY N IRT * PYNRYNN MPINNY 75 D5 HaY AWYIY 115 01PN Yon

Nevertheless, since the ox is so meek that the children can play with him, this
indicates that the ox has certainly reverted back to his initial status as a on.

mboon disabuses us of a possible mistaken notion:*
= 09 NYHY NN DN XOY VYNT 9NN 29 N2 XD
And »'"1 is not coming to exclude that recanting for three days is not effective

to render him a an; this is not so -
= PN 21 HY 1 NN NIINT DNV 1NN DI*a 5199981 19399UN NIN

' The X3 previously (2,2) taught us that a A»7a% 79 is not a DTXY 79 (since X2 72 MK DX [see following
footnote # 2]), therefore the reverse should also be true that even though he is no longer a 078> 791 (who has 2m)
by not goring the M0 (see ‘Thinking it over’ # 1 ) that does not mean that he is no longer a 71737 7¥7.
2 See o "7 2,2 "W who writes, 191 DX MAWS nvT 12 ww and 220 7"72 where he writes 121 1077 M1 1K); and 2"'wA
21 1"7 2,31 NAW who writes, 19¥ 7071 19w X721, In any event a man is less likely to be hurt by an animal, than an
animal is likely to be hurt by another animal,
? It is not merely that the ox stopped goring people, which indeed may not be proof that he is no longer a 722 797
(since X217 7% N°X 07X), but since he is so tame that children can even play with him, this assures us that he is a an.
4 See ‘Overview; *"1 maintains that to become a on, he must cease from goring three days, while »" maintains that
to become a an he must allow children to play with him; indicating perhaps that according to %", merely not goring
for three days is insufficient to render him a an, but rather we require 12 7wnwnn NP1°NA 17°Y. One may have thought
this, especially in light of what m»oin just said (see footnote # 3) that 12 Pwnwn» NPIN is a superior indication that
the 7 is a an, than by merely not goring (people). MdOIN rejects this notion.
3 He will (certainly) revert to the an status if he does not gore in three days (like >"7 maintains), he can even revert to
an status in one day, through playing with children.
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But rather »'"1 teaches us that occasionally he can revert to the on status even
in one day; for instance through children playing with him.

moon forewarns us from another misconception:
- SaNTYNY S9NV 29 Yy GR NN NXTXTH DIV PRT AN 1NN D12 DY ')

However, it seems to NMoo1n that not goring three times in one day will not be
effective according to n"9, to have him revert to the an status, even though »"9
maintains that goring three times in one day is effective to make him a 7v2 —

mooIn support his contention:

10939 /) S¥a NN T3 NN DY NYHYAY 7]19)3\’) 2499 JNIWUN 2133 Y9NY
For we also find this according to @' that he becomes a ¥ by goring three
times (even in one day) and nevertheless he requires three days (of not goring)

to revert to nwn. This proves that becoming a 7 (by goring) in one day is not a compelling
argument to revert to Mnn (by not goring three times) in one day.

SUMMARY

According to n"7: a) Playing with children is more docile than not goring people,
b) not goring cows for three days is certainly sufficient, and c) three times not
goring cows in one day is insufficient.

THINKING IT OVER

1. When the mwn states, 1211 1°KX1 12 PwHwH?R MIP1NT 17°w 7Y, does that mean he is
not 133 the children,® or he is not A1 other oxen, even though the children are
inciting him?’

2. What is a better reason to revert to mnn; three days without goring, or MpI°n
1 pwnwnn?°

% See ‘Overview’. According to *" an ox becomes a 7 in three days and reverts back to a an in three days.
According to ", he becomes a 7y in three times (even in one day) and reverts back to a an ‘even’ in one day (by
children playing). It seems that »"7 requires less time for either process, therefore one may think (that since n""
agrees with "1 in principle that not goring is a reason to revert to nn [see footnote # 5] and he requires less time,
therefore) he could revert to NN by not goring three times in one day.
78,75 Ta0b.
¥ See footnote # 1.
? See TN *WwADn XN # 26.
' See wn noma.
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